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Phase Shift: a horizontal shift of a trig
function
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In Salt Lake City, Utah, at the spring equinox (March 20, 2013) there were 12 hours and 9
minutes of daylight. The longest day (June 20, 2013) and shortest day (December 21, 2013) of ‘rr
=565 M=5h) 1
the year vary from the equinox by approximately 3 hours. Write a sine function that relates the — b ‘h—
number of days to the variation of daylight hours in Salt Lake City.
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26. A ferris wheel 50 ft in diameter makes one

revolution every 40 seconds. The center of the Ydlec)(\b(\

wheel is 30 feet above the ground. Write a :

cosine function to model the height of a car of @le W\&Y! 19 Whee/
the ferris wheel at any time t. a ], Wliﬂ
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